Unit 6 Assessment e Connecting Algebra and Geometry
through Coordinates

Which equation represents a line that is parallel

totheliney = 4x — 17
@ game gf

B. y=2x—1
C. x=4y—-6

D. y=-Jx+3

Point B is the midpoint of the line segment
CD below.

Which expression should be used to determine
the coordinates of point B?
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B. (2+(=3),1+(-2)

2+(=3) ITQV
T2 ¢ 2
. (25224

Which equation represents a line that
is perpendicular to the liney = 6x + 27
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A, y=6x-3
B. y=-6x+2 @
C. V\H_wvjrm

V\Hiwxlg

Points (=2, 1) and Q(4, 2) are the endpoints of
the line segment that is graphed below.
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Which mx_uﬁmmm_g should be used to determine
the length of line segment PQ?

=20+ @2+1)?

D. (=2 =(@2+1?
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of theline segment that is graphed below.

Which point is w of the distance from point M to

point N?

A. 0,-1) A.
(~2,-1)
m B.
C. (=30 :
D. (.0 @
: D.

Points M(—5, ~2) and N(4, 1) are the endpoints © 6. Usethe line thatis graphed below to answer
the question.

Which equation represents a line that is parallel
to the line that is graphed above?

7. Righttriangle DEF is graphed on the coordinate

plane below.

What is the perimeter of ADEF?
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Triangle XYZ is graphed on the coordinate
plane below.
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Which of the following proves that the triangle
is isosceles?
A. msLYZX = 45°
B. XZhasa length of 6 units.

mZ.XYZ is greater than m£ ZYX

& The distance between X and Yis equal to
the distance between Yand Z.

Points A(—2, 9) and B(6, 1) are the endpoints of
the line segment that is graphed below.

Which point is w of the distance from point A to
point B?

A. (0,7)
(4,3
(4,4)
(2,5)

10.  Whatis the distance between points E(—5, —3)
and F(2, =7)? ,
S (S04 (-3 r )
B. V29
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11, Usethe line that is graphed below to answer
the question.
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Which equation represents a line that is
perpendicular to the line that is graphed above?
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Use the line that is graphed below to answer 13.

the question.
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Which equation represents a line thgfpasses

through the point (7, 4) and i %.Em line
N iad

that is graphed above? ~

A. V\H\Wx\fw

Aw. -xﬂl_wx;,m
\ y=7x+4

V.\Kuwxla X J..u l— +,W

5] 40
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4= 145

Use the line that is graphed pelow to answer

the question.

Which equation represents a line that passes
through the point (—4, —3)and mﬁmaa_nc_mq
to the line that is graphed above?

y=2x+5

A 4L 63 - D326

C.)y=-3x-5

D. v\ul.m.xld
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parallel, perpendicular, or neither?

: A ——
y : Q neither .

14. Thetriangle that is graphed in the coordinate © 15,  Arethelines y=
plane is isosceles. :

_ B. parallel
17 i
JT - C. perpendicular
L D. cannot be determined
XN
ESEXERC :
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: What is the area of rectangle ABCD in square units? Write the formula that you use to calculate the area, and
Which sentence proves that MX bisects the base show all your work. .
orjmimzo_mw w Q . E L. a F H

A. MXbisects the base because
£LNXMis aright angle.

B. MXbisects the base because
m4LMNL = m/ NIM.

C. MX bisects the base because - N I
X = XN = 4 units. 17. Two lines are graphed on the coordi p !
MX bisects the base because Y

X = XN = V8 units.
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Find the slop&f each line and explain why the lines are or are not parallef.
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A designer was given a blueprint to continue a
partner had drawn the quadrilateral below to r

project that her coworker started. On the blueprint, her
epresent a table. The designer wants to know if the quadrilateral

is a square.
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A.  Calculate the slopes of EF, FG, GH, and HE. Show your work.,
gh -1 o
- ’ ® - - ’
FG- :

B.  Calculate the lengths of EF, FG, GH, and HE. Show your work.

€F =3(7 GH=302
f6:=3{z He=3{2

C. Provide a full explanation, using your answers from parts A and B, of why figure EFGH is or is not a square.

- ConSeCutive <Sldes
- all 4 sides &E% @ﬁ\_(
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19. Two linesina plane can be parallel, perpendicular, or intersecting but non-perpendicular.

A.  line one passes through the points (2, —2) and (3, 2). Line two passes through the points (—4, 6) and
(0, 5). Determine if the lines are perpendicular. Show your work.

oy TWO
-2-T U-llm\n.lwr_V eﬁ.hl\m. .Hll—\l.lPl
-3 | -4-0

B.  Graph the two lines to check your work.

o

C.  Justify your answer to part A, using the concept of rate of change.

o han a_acke gl ¢
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20.  The circle beiow has its center at 1 > PC y
OW has its center at the point(1, 2), and the point A(1, 5) is on the circle

y

A1, 5)

A Whatis Hrm length of the radius of the circle? Show your work.

A(-Det (s 5= =

B. Isthe point B4, 2) on the circle? Show your work to justify your answer.
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